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SSLC MODEL QUESTION PAPER-1

MATHEMATICS
TIME : 3 HOURS SECTION-A TOTAL MARKS:100
I. Answer all the questions. (Multiple Choice Questions)
1If n(AXB)=6 & A={1,3}, then n(B) is

11 2)2 3)3 4)6
2.If the ordered pairs (a+2,4) and (5, 2a+b) are equal than (a,b) is----
1) (2,-2) 2)(5,1) 3)(2,3) 4)(3,-2)
3.Given F;=1, F»,=3 and F.=F,1 +F.> then Fs is
1)3 2)5 3)8 4)11
4.The value of (13+23+33+...4153) - (1+2+3+..+15) is
1)14400 2)14200 3)14280 4)14520
5.The solution of the system x+y-3z=-6,-7y+7z=7,3z=9 is
Dx=1,y=2,2=3 2)x=-1y=2,2=3 3)x=-1,y=-2,z=3 4)x=1,y=2,z=3
6.If A is a 2X3 matrix and B is a 3X4 matrix how many columns does AB have
1)3 2)4 3)2 4)5
7. A tangent is perpendicular to the radius at the
1) centre 2)point of contact 3)infinity 4)chord
8.The slope of theline joining (12,3) (4, a) is é.The value of ‘@’ is -------
11 2)4 3)-5 4)2
9.tan Ocosec? 0 - tan 6 is equal to ---
1)sec 6 2)cotz 0 3)sin O 4)cot O

10. A tower is 60m height. Its shadow is x metre shorter when the suns altitude is 45°, then when it has
been 30°,then x is equal to

1) 41.92m 2)43.92m 3)43m 4)45.6m

11. The total surface area of a hemi-sphere is how much times the square of its radius----
1)m 2)4m 3)3n 4) 2m

12.The height of a right circular cone whose radius is 5cm and slant height is 13cm will be---
1)12cm 2)10cm 3)13cm 4)5cm

13.Variance of first 20 natural numbers is
1) 32.25 2)44.25 3)33.25 4)30

14.Which of the following is incorrect?
1)P(A)>1 2)0<P(A)=1 3)P($)=0 4)P(A)+P(not A)=1

SECTION -B
II. Answer any 10 questions (Q.NO:28 is compulsory) 10x2=20

15.If BXA ={(-2,3),(-2,4),(0,3),(0,4),(3,3),(3,4) }. Find A and B.

16. A function is defined by f(x) =3 —2. Find x such that f(x?) = (f(x))?.

17.Find all positive integers, when divided by 3 leaves remainder 2.

18. How many terms of the series 1+5+9+..must be taken so that their sum is 190?

19. Solve : 2m2+19m+30=0

20. Construct a 3 X 3 matrix whose elements are a;; = i%j2.

21.Find the length of the tangent drawn from a point whose distance from the centre of a circle is 5cm
and radius of the circle is 3cm.

22.Show that the points P(-1,-5,3), Q(6,-2), R(-3,4) are collinear.

23.Find the equation of a line whose points are (2,3) and (-7,-1)

24.Prove that tan2 0 -sinz 0 =tan20sin20.

25.Find the diameter of a sphere whose surface area is 154 m2.

26. Find the standard deviation of first 21 natural numbers.

27.Two coins are tossed together whatis the probability of getting different faces of the coins?

28.If the total surface area of a cone of radius 7cmis 704cm?, then find its slant height.



SECTION-C
III. Answer any 10 questions(Q.No :42is compulsory) 10x5=50
29.A={xEN|1<x<4},B={xeW | 0<x<2}andC={x€N |x<3} }then verify that
A XBUC)=(AXB)U(AXxXC()
30.If f(x)=x2 , g(x)=3x and h(x)=x-2, prove that (fog)oh =fo(goh).
31.Find the 15t , 24th and nth term of an AP given by 3,15, 27,39 ........
32.Find the sum to n terms of the series: 3+33+333+....
X z VA
33.Solve : 5—31 =Z+1=242 : 2+-=13

341f 4= ( ;)Show that A2—5A4+7,=0.

35. State and prove Thales theorem.

36.Find the area of the quadrilateral formed by the points (8,6),(5,11), (-5,12) and (-4,3).

37.Find the equation of the perpendicular bisector of the line joining the points A(-4,2) and B(6,-4).
38.If the angle of elevation of a cloud from a point ‘h’ metres above the lake is 8; and the angle of

depression of its reflection in the lake is 0, Prove that the height that the cloud is located from the
h(tan 6 1+ tan 0 2)

tan62-tan61
39.If the radii of the circular ends of a frustum whichis 45cm height are 28cm and 7cm. Find the volume

of frustum.

40.Find the mean and variance of the first n natural numbers.

41.A coin is tossed thrice. Find the probability of getting exactly two heads or atleast one tail or two
consecutive heads.

ground is

42.0f —25% —1 then prove that — = sin6
1+siné a a’+1
SECTION -D
IV. Answer the following questions: 2x8=16

43.(a).Construct a triangle similar to a given triangle PQR with its sides equal to % of the corresponding

sides of the triangle PQR.
(OR)
(b).Take a point which is 11cm away from the centre of a circle of radius 4 cm and draw the two
Tangents to the circle from that point.
44(a) .Discuss the nature of solution for quadratic equation x2-8x+16=0
(OR)
(b). Draw the graph of y=x2-4 and hence solve x2-x-12=0



USSTLD euGLiL mHifl aflewrm&GHmer - 1

SmevLd: 3 Lo6vofl 860011510 Qs LoHLICILIEES 6T :100
UGS - 1
| .M HG ail6urTs & (e @GL aflemLwefl 14x1=14
1. n(AXB) =6 WOHMID A={1,3} , 6T6s7l6L N(B) Y 601G
1)1 2)2 3)3 4)6
2.(a+2 , 4) woHmId (5 , 2a+b) &AW aufleng G&Mq &6T FLOLD 6T6vfl6L (a, b) 6TETLIG)
1)(2,-2) 2)(5,1) 3)(2,3) 4)(3,-2)
3.F;=1, F,=3 omId F,=F.; +F,, 616018 Q&T(HSSLILIG 65T Fs 6T60TLIGI----
1)3 2)5 3)8 4)11
4. (1P+2°+3%+....415%) - (142+3+...+15)-63T LDAIIY
1)14400 2)14200 3)14280 4)14520
5. X+y-32=-6 , -7y+72=7 , 3z=9 6T601M QHTGLIN6T Fij6y
1)x=1,y=2,z=3 2)x=-1,y=2,z=3 3)x=-1,y=-2,z=3 4)x=1,y=2,z=3
6. A 6T60TMD SI6uTNUTN6DT EUIFleME 2X3, B 6T63TM H6TTNUTN6TT 6UIfl6ME 3X4 6T63760 AB 6T60TM SH6TaNUNEDT [HIFEL S eEMil60T 6T6TUI6TIN&H60)8
1)3 2)4 3)2 4)5
7. UL L g 8l6t1 QHTHCOSHTHLD G HT(PLD QFRGHSHTEH MWD @)L LD
1)6mLOWILD 2)QgmEeTem 3)(Wlg.e1ed 4)[BIT6TOT
8.(12,3), (4, a) sT6t1m LsimeN&emen Q6060018 GLD CHITLLq 60T FTUIEY %aasﬂsb ‘a’ 60T LOGILILY
1)1 2)4 3)-5 4)2
9. tan Bcosec’ B-tan 6- 67 DALY
1)sec 6 2)cot2 0 3)sin B 4)cot 6

10. (1 CaHMYTSHH6dT 2 WIFLd 6015 QY@ LD , & f et STEmID FHMECHTEIILD 30 60/(HH S 45°9% & 2 WI(HLOCLITS|
GamypsHeir Hllpeorerg x LS GemmEMG) 6166 60T LOSIIL|-——-

1)41.92L8 2)43.92L8 3)43 LB 4)45.6 LD
11.621] SIEDTESECHTENS S60T CILDITE & LITLIL| 18 65T 4,5 H 06 ILI Q58S S\60T - LOLRISTGLD
1)n 2)4n 3)3n 4) 2n
12. 841D 5 Q& OMHMILD FTujuipd 13 Q& .15 2_enLwl CHITeUL L &&alDIN6IT 2 UIfLD-—
1)12Q& 15 2)10 Q&8 3)13 Q& LS 4)5 Q&8
13. (LPSH6L 20 QU6 6T6TISH 66T ONCVES LUTEHHE  FITEFILITES]-—-
1)32.25 2)44.25 3)33.25 4)30
14. Q&T(HSSHLILIL L em6U&aN6L 618 &6UMT6UTS)?
1)P(A)>1 2)0<P(A)<1 3)P($)=0 4)P(A)+P(A)=1
UGS -2
1. GCH@ILD 10 aNermailm @ allenLwefl (aileurmerevor 28-& (& &L L TWLLNS ailemLwefl ) 10X2=20

15.B X A={(-2,3),(-2,4),(0,3),(0,4),(3,3),(3,4)} é163l6L A LDMMILD B Q& SHT6T0SH
16. f 67601 &ML f(x)=3-2x 660 UMTWMISSILGEDE f(x?) = (f (x))? 6T6afl6b X R& HM6TOS.
17.3 8460 UGHGSLD QUG LB 2-B&T&Falq W NS G| LOIEDS (LD (LNSSEMETU|LD SIT6TIIS.
18. 1+5+9+.... 61601 QBHTLIf16D 618 & 6M60T 2 MILIL|FH6M6NTE Fal_lq.60TM6L Fa(5&H6L 190 HemL &GLD?
19.8768& : 2m’+19m+30=0
20. a;; = (%)% 616511 SIEMLOLIHLIS QSTETIL 3 X 3 CUFlNE ML ILI SIETNEMILIS SHIT6T01S.
21.3 Q& .15 (W 6Ten Ul L &6 emLoiid Sledl([bhG 5 Q.15 Qgmeneveiled o_sitar LsitafluNed @bh&I euLl L SHHS
eUemPWULL L Q&THOSTL Lq.657 HeNLD ST6w015.
22.P(-1,-5,3), Q(6,-2) wmmid R(-3,4) &AWl LeTail&eiepGr CHICHTL 1960 SeMLOU|LD 6T60T6 ST (HS
23.(2 , 3) wOHMID (-7 , -1) Y& LeTeNae euNCIFeLaID CHITCHITL Lq 65T FLOEITUITL 1L &HITEH0IS%
24. tan” @ -sin’ 8 = tan’Bsin’ B eTetTLINS H(HLI
25. (1 Cameng et mUILITLIL 154 & Q& L5 61660 Si& 60T eI L_LD SM65018
26. (LPGFH6L 21 QILI6L 660015 6M6L SIL_L 601160855 6MGH S SIT6T015



27. @y6uv1(h HTEIILIMIGET €263TMITS Fi6vurL_LILI(h HlesTmest @evoi(h HTeuonmiseNeId GeueuGauml (L &miGel

SLLULSDSIT6N H&HLDS &6 6T63T60T2
28.704 &.Q& L5.QLOMS S LILMUILIL Q&L 62(1h SalDLN6T YLD 7 C1&.L5 6T651l6L 318 60T &FTUWJWITLD ST6T018.
uGH-3
. g G I 10 elearmaili @ eNlemLwerdl (@Nevrmerevom 42 MG &L LMLOTS allenLwefl ) 10X5=50

2A={xeEN|1<x<4},B={xeW | 0<x<2}pmibC={x €N |x < 3 } 61607160 AX(BUC)=(AXB)U(AXC)
6TEOTLIEN G SHITCU0I5.
30. f(x)=x, g(x)=3x , h(x)=x-2 166V (fog)oh=Ffo(goh) 61601 HIMI6 & .
31. 3,15,27,39........ 61601 QML Jeuflenguiedt 15-61G] , 24-018] LOMHMILD n-eUF) 2 MILIL| HT6TTSH
32.3+33+333+....61601D) QFHTLJeUlenFUNCIT (P G6L n 2_MILIL|SHETT6H For(h &6V SHIT6TUIS
3.8066: S—1=3+1="+2 : Z+-=13
3.4 = (_31 ;) sTeafled A% — 54 + 71, = O eTevt Himie 5.
35.GgELEN CHMHMSMS 61(DE Himias
36.(8,6),(5,11),(-5,12) wmmIb (-4,3) P& LeaTtaN&emar (LDeneuT&enTé Q&MeL HTM&I] & SleT LiFLieoL
SIT6H015
37.A(_4,2), B(6, -4 )DOMILD 6T63TM LiTaT&Hemen Qemeini@LD 6nLDILIS &S GICHTL 1657 FLOGTLTL L& SHIT6H018
38. gJiflufest oL LSS0\ [BH&I ‘v L 2 wisHevlerern e LsitaNuNedl (b b 2 (b CHTLTE ST JHMCHMETILD 6,
LHDILD gHBHF6 NP GLsL LNDLIS 6T QMESCEHTEILD 62 6T631l6d &enTuiledl (b GLo&S Slett 2_WifLbd

h(tan 6 1+ tan 6 2)
tan©62-tan 61 6‘[66[[_‘5]([5@

39.45 GlF.16 2 _wyupsiter @i @)ewL_SHeTL_GSleT @) (HLMD Y Tmiser pewmGw 28 QF.L6 wHmib 7 CF.L5 erevflsL
(B)WL_HMTL_SSI6T H6UT HyeTeWeU T
40. wpgev N @iy sTawstdafler Frmadfl wWHMID ailevds euidss FrrFflaener &reards
A1.H BrewTD (PeTMI (pewM FewTL_ LGS MGI. FTWTs ) reant(h SeWeVEHT VUG &HPMEHSLILFID 6 (h L), VU]
D55 DSS @)TeT(H) HMEVHET FlWL LIDSHETET  [BlBHLPBEH6Y &T6EHTH
2

cosf 1 Lat-1_ . .
Treng = a oTofled ———=sinf ersirLeng Bl
LG -4
IV. 3160601 G| OIl6TTS & (EH 5 GLD aflenL_werl: 2x8=16

43(S).Q&BMTHSSIULL (PSCHTEID 6258 LISSMIGer6 &S GLD g 6T6ITMEUMM) 62 (1 QUIqClUTEHS (L SCEHTEIILD
QUM
(216L6VLG))
(S%). 4 Q& L8 Sy ETeT UL L LD euenfhEI , QUL L &S 6T enowSHe0([bhG! 1l Q& L5 Qgmeneveilsyieern e (b
Hemefemiid @GNS &), silenaNullefbbhg Ul L HMHG @iy QHTHCHT(H &6 Q)&

44(81). x>~ 8 x + 16 = 0631 euEMILIL_LD UM S| S761H6M6HT &6TTENLOEMUIS SITETOIS
(S{6eVeLE)
(8). Y= X>-4  euenruL_ib UMTHGI SBHEW6ST LIWGTLIHSS 6T60TD X’—x—12=0 6160 FisiTumt_soL_ Eidseyn



SSLC MODEL QUESTION PAPER - 2

Time: 3 Hours MATHEMATICS Total Marks:100
PART-1(MARKS-14)
ILANSWER ALL THE QUESTIONS. 14 x1 =14
1.If n(AXB)=6 and A={1,3} then n(B) is
D1 2)2 3)3 4)6

274Kz (mod 100)

D1 2)2 3)3 4)4
3. The next terms of the sequence% ,% ,% ,1—18 TR [

1 1 2 2

4. The solution of (2x-1)2=9 is equal to

1)-1 2)2 3)-1,2 4)none of these
5. Graph of a linear polynomial is a

1)straight line 2) circle 3)parabola 4)hyperbola
6.If in triangle ABC, DE || BC. AB=3.6cm , AC=2.4cm, and AD=2.1cm then the length of AE is

1)1.4cm 2)1.8cm 3)1.2cm 4)1.05cm
7. The point of intersection of 3x-4=14 and x+y=8 is

1)(5,3) 2)(2,4) 3)(3,5) 4)(44)
8. The slope of the line which is perpendicular to a line joining the points (0, 0) and (8, 8) is

1)-1 2)1 3)% 4)-8
9.acotB®+bcosecBb=p and b cot6 +acosec8=q then p2-q2 is equal to

1)az-b2 2) b2-a2 3) a2+b2 4)b-a

10. If the ratio of the height of a tower and the length of its shadow is v/3:1then the angle of elevation
of the sum had measure

1)45° 2)30° 3)90° 4)60°
11. When a sector of a circle is transformed to form a cone, then arc length is change to
1)slant height 2)diameter 3)circumference of the base 4)altitude

12. The ratio of the volumes of a cylinder, a cone and a sphere, if each has the same diameter and
same height is

1)1:2:3 2)2:1:3 3)1:3:2 4)3:1:2
13. Which of the following is incorrect?
1)P(A)>1 2)0<P(A)<A 3)P(0)=0 4)P(A)+P(notA)=1
14.The standard deviation of a data is 2.8, if 5 is added to all the data values then the new standard deviation is
1)2.8 2)7.8 3)14.0 4)8.2
PART -2 (Marks-20)
II. ANSWER ANY 10 QUESTION .Question No:42 Compulsory Answered 10x2 =20

15. Let f(x)=2x-5,if x not equal to 0, then find f—(x”;_f 2)

16. Show that the function f:N—N defined by f(m)=m2+m+3 is one-to-one function

17. Compute x, such that 104=x (mod19)

18. The sum of the squares of the first n natural numbers is 285 , while the sum of the cubes is 2025.
Find the value of n.

19.Find the LCM of x*-1, x2-2x+1

20. Determine the nature of the roots: v2t2-3t+3+/2=0

21.In triangle ABC, If DE || BC, AD=x, DB=x-2 , AE=x+2 and EC=x-1 then find the lenghts of the sides AB and AC.

22.Find the area of the triangle whose vertices are (-3,5),(5,6) and (5, -2)

23.Find the equation of the line passing through the point (3,-4) and having slope_75
24.Prove that: sect®0=tan®6+3tan2 Osec? 6+1

25. From the top of rock 50v/3 m high, the angle of depression of a car on the ground is observed to be
30°, find the distance of the car from the rock.

26. If the total surface area of a cone of radius 7cm is 704cm? , then find its slant height.

27.Find the Standard deviation of first 21 natural numbers.



28. Solve 2x2-x-1=0 by using completing square method.

PART-3 (Marks-50)
III. ANSWER TEN QUESTIONS ONLY . QUESTION NO 42 COMPULSORY .

29.Find the domain of the function f(x) :\/1 + /1 - V1 = x*

30. Find the remainder when 28! is divided by 17.

31.Find the sum [% 4 3az2by a7 4 012 terms].

10 x5 =50

a+b a+b
1 1 1 1 1 1 1 1 4 2
32.S0lve —+—— —== 1=—; I__42-22
2x 4y 3z 4 x 3y’ x 5y z 15

: . x? x y y?
33.Find the square root of the expression — — 10—+ 27 — 10~ + =
y y x X

34.State and prove Pythagoras theorem.
35. Let P(11,7),Q(13.5,4) and R(9.5, 4) be the mid points of sides AB, BC and AC respectively of triangle

ABC. Find the coordinates of the vertices A, B, and C. Hence find the area of triangle ABC.
36. Find the image of the point (3, 8) with respect to the line x+3y=7 assuming the line to be a plane mirror.

1+cotA+tanA)(SinA—Cos A .
37. Prove that GFCOMAHRNA)SINA-CosA) _ 112 4652 4

sec3 A—cosec3 A
38.If the angle of elevation of a cloud from a point ‘h’ metres above a lake is 8;and the angle of
Depression of its reflection in the lake is 0..Prove that the height that the cloud is located from

. h(tan61+tanB2
the ground is ¢ )
tan02-tan61

39.4 Persons live in a conical tent whose slant height is 19 cm, if each person require 22 cm? at the
floor area,then find the height of the tent.
40. A capsule is in the shape of a cylinder with two hemisphere stuck to each of its ends. If the length
of the capsules is 12mm and the diameter of the capsule is 3mm. How much medicine it can hold?
41. The mean and variance of seven observations are 8 and 16 respectively, if five of these are2,4, 10,

12 and 14, then find the remaining two observations.
42.1f two dice are rolled, then find the probability of getting the product of face values 6 or the difference

Of face values 5.
PART - 4

IV. Answer the following questions: 2x8=16

43(a). Construct a triangle similar to a given triangle LMN with its sides equal to % of the corresponding

Sides of the triangle LMN ( Scale factor% )
(or)
(b).Draw a circle of radius 4.5cm. Take a point on the circle, draw the tangent at that point using the

alternate segment theorem.
44(a). Draw a graph of y=x2-4x+3 and use it tosolve x2-6x+9=0

(or)
(b). Graph the quadratic equation and state their nature of solutions (2x-3)(x+2)=0



UGS eu@GLIY Il eNermSHSmer - 2

&MELLD: 3 LDO6vol] & 600118 LD Qg s LGILICILIEUITS 6T :100
UGH - 1
1.3I6M6 55 aleTs & (eh& G allemLwefl 14x1=14
1.n(AXB) =6 wpmip A={1,3}, eresfle n(B)  yerg
11 2)2 3)3 4)6
2. 7%=-——-(0_(» 100)
1)1 2)2 3)3 4) 4
3 1 1 1 . . . . .
3. = 1,5 Vg g e e e erlazrrg) O rLireuflensuilsir @1?5_5;5 2 miliy i
D 2)- 3)3 4)=
4. (2x-1)2=9 et Firey
1-1 2)2 3)-1,2 4)etgH16LD (B)6LEW6V
5. ChMlw LLYIMILILS CHTeweuuiledT euewTLIL LD 6p(h
1)Cri&Casr(®h 2)eul_Lib 3)ureusnearwitp 4) 9 FuTeuswemiid
6. A ABC uflev DE || BC. AB=3.6 Q#.16 , AC=2.4 Q&.18, wpmib AD=2.1 Q.15 stesflsv AE 51 BFerid
1)1.4 Q&6 2)1.8 Q#.15 3)1.2 Q&.16 4)1.05 Q&6
7.3x-4=14 woHmid X +y=8 alw CriCsTHBH6T FhHldbEHD LsiTer]
1(5.3) 2)(2,4) 3)(3,5) 4)(44)
8.(0,0) wpmitd (8, 8) sterm Lsirafllmemer @)ewentd @b CHTL14hH & O\FBIGHSSTT CHTL 1 63T FTIiI6Y
1)-1 2)1 3); 4)-8
9.acot B +bcosec 6=p wHmb b cot O +a cosec 0=q eresflsv p2-q2esr LOF)L 1Ly
1)az-b2 2) b2-az 3) a2+b? 4)b-a

10.9m GaTyrsHer o wrsdne st Bipedlsr BersLna@n o srer all#flsin V3 : 1 srafls) @husears &ramiib
TMMId CHTesT |6T6eUT6wTS)

1)45° 2)30° 3)90° 4)60°
1.9 eul_ L &CasremtliLigg gnbuirss rmib CUTg| 9HeT allsvedlerT KearTddlsy erMLILI(HID THMLD
1)emujwrid 2)aill_L1b 3)9gLIyD FHDeTey 4) @ SSHIWrid
12.5wwrer alll L 1b wHMID 2 W 2 DLW QI 2 (HEDET, §p(h FnLbL| LMHMILD p(h CHTETHB6HT H6OT )66y 6ifledr
PYESFA
1)1:2:3 2)2:1:3 3)1:3:2 4)3:1:2
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SSLC MODEL QUESTION PAPER -3

Time: 3 Hours MATHEMATICS Total Marks:100
PART-1 (MARKS-14)
ILANSWER ALL THE QUESTIONS . 14 x1 =14
1.If n(A)=P, n(B)=q, then the total number of relations that exist between A and B is
1).pXq 2).p+q 3). p-q 4). 2"
2). f(x)=(x+1)*-(x-1)® represents a function which is
1).Linear 2).Cubic 3).Reciprocal 4).Quadratic
3).The average of first 100 natural numbers is
1).50 2).51 3).50.5 4).50.75
4).The Sum of the exponents of the prime factors in the prime factorization of 1729 is
1).1 2).2 3).3 4).4
5).The Area of the rectangle is %(sz), its length is %2 Km and its breadth is
1) km 2) 2= km 3) 2= km 4) 2= km
6. The number of points of Intersection of the Quadratic polynomial x>+ 4x+ 4 with the X axis is
1)0 2)1 3)00r1 4)2
7.A tangent is perpendicular to the radius at the
1)Centre 2)Point of Contact 3)infinity 4)Chord
8.If a line with slope m, makes x interceptd, then the equation of the straight line is
1).y=mx +d 2).y=mx 3).y=m(x-d) 4).y=m(x + d)
9.1f (5,7),(3,P) and (6, 6) are collinear, then the value of P is
1).3 2).6 3).9 4).12
10.Sec 6 =CosecB if O is
1).30° 2).60° 3).45° 4).90°
11.Difference between total surface Area and Curved Surface Area of a cube is
1)4a’ 2)6a’ 3)2a’ 4)a’
12. The total surface area of a hemi sphere is how much times the square of it radius
1)0m 2)4n 3)3n 4)2n
13. Which of the following is not a measure of dispersion?
1) Range 2)Standard Deviation 3)Arithmetic Mean 4)Variance

14.A page is Selected at random from a book ,the probability that the digit at units place of the page number chosen
is less than 7 is

7 7
1).— 2). = 3). = 4).7
PART -2 (Marks-20)
Il. ANSWER ANY 10 QUESTION .Question No:42 Compulsory Answered 10x2 =20
15.A function f is defined by f(x)=3-2x. Find such that f(x?) = (f(x))?.
16.Let f(x) = x> — 1. Find 1).fof 2)fofof.
17.1fd is the HCF of 32 and 60, find x and y satisfying d=32x+60y.

18.In a GP the 9™ term is 32805 and 6" term is 1215 . Find the 12 term.

. 2_10p+21
19.simply: %

20. Construct a 3X3 matrix whose elements are a;= izj2

21. If triangle ABC is similar to triangle DEF such that BC=3cm ,EF=4 cm and area of triangle ABC=54cm>.Find the
area of triangle DEF.

22. If the points A(-3,9), B(a, b) and C(4,-5) are collinear and if a+b=1, then find a and b.

23. Find the value of ‘@’ if the line through (-2, 3)and (8, 5) is perpendicular to y= ax + 2.



24.Prove that Sec® 8(1-sin® 8)-2tan” B=1

25.Find the angle of elevation of the top of a tower from a point m the ground, which is 30m away from the
on foot of a tower of height 10+/3 m.

26.Find the diameter of a sphere whose surface area is 154m?

27.The mean of a data is 25.6 and its co-efficient of variation is 18.75. Find the standard deviation.

1 2x34x%243
from ———

28. Subtract
x2 +2 x2+2

PART-lll(Marks-50)
I1l. ANSWER TEN QUESTIONS ONLY . QUESTION NO 42 COMPULSORY . 10 x5 =150
29.A={xeN|1<x<4},B={xeW | 0<x<2} and C={x €N |x< 3} then verify that
AX(BUC)=(AXB)U(AXC)
30. Find x, If gff(x)=fgg(x), given f(x)=3x+1 and g(x)=x+3
31.Prove that 2"+6 X 9" is always divisible by 7 for any positive integer n.
32.Find the sum of n terms:3+33+333+...+ to n terms
33.Find the GCD of 6x>-30x°+60x-48 and 3x>-12x*+21x-18

34.If a, B are the roots of the 7x*+ax+2=0 and PB-oa= _713 Find the value of a

35.State and prove Thales theorem.
36.Find the area of the quadrilateral whose vertices are (-9,-2),( 8,-4),(2,2) and (1, -3).
37.Aline makes positive intercepts on coordinate axes whose sum is 7 and it passes through (-3, 8). Find its
equation.
38. If sin B + cos 6=p, sec B + cosec 6=q, then prove that q(p®-1)=2p.
39.The ratio of the volumes of two cones is 2:3.Find the ratio if their radii if the height of second cone is
double the height of the first.
40.From a solid cylinder whose height is 2.4 cm, and the diameter 1.4 cm, a cone of the same height and same
diameter is carved out . Find the volume of the remaining solid to the nearest cm’.
41. A coin is tossed thrice . Find the probability of getting exactly two heads or atleast one tails or two consecutive
heads.
42.If the roots of the equation (c*ab)x*- 2(a*-bc)x + b*-ac=0 are read and equal . Prove that either a=0 (or)
a’+b*+c*=3abc.
PART-IV(MARKS-16)
IV.ANSWER ALL THE QUESTIONS 2x8=16
43.(a).Construct a triangle PQR which the base PQ=4.5cm, 2R = 35°and the median from R to RG is 6 cm.
(or)
(b). Draw the two tangents from a point which is 10cm away from the centre of a circle of radius 5cm.
Also measure the length of the tangent.
44.(a). Draw a graph of y=x*+x—-2 and hence solve x’+x—2=0
(or)
(b).Draw a graph of y=(x—1)(x+3) and hence solve x*—x-6 =0.
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SSLC MODEL QUESTION PAPER -4

Time: 3 Hours MATHEATICS Total Marks:100
PART-I
I.ANSWER ALL THE QUESTIONS: 14x1=14
1..If there are 1024 relation from a set A={1,2,3,4,5} to a set B, then the number of elements in B.
1)3 2)2 3)4 4)8
2. If t, is the nt term of an A.P, then ty,-t, is
1)d 2).nd 3)2nd 4)2n-d
3.1f the HCF of 65 and 117 is expressible in the form of 65m-117,then the value of m is
1)4 2)2 3)1 4)3
4. Which of the following should be added to make x*+ 64 a perfect square.
1)4x2 2)16x? 3)8x2 4)-8x?
5.1f the number of columns and rows are not equal in a matrix then it is said to be a
1)diagonal matrix 2)rectangular matrix 3)square matrix 4)identity matrix
6.In a right angle triangle the sum of the other two angle is
1)90° 2) 60° 3) 45° 4) 30°
7.The equation of a line passing through the origin and perpendicular to the line 7x-3y+4=0
1) 7x-3y+4=0 2)3x-7y+4=0 3)3x+7y=0 4)7x-3y=0
8.If sin @ + cos 8=a and sec 8 +cosec 8=b , then the value of b(a’1) is equal to
1)2a 2)3a 3)0 4)2ab
9. The difference between the C.S.A and T.S.A of a right circular cylinder is
1)mr2 2)2 mr2 3)2mrh 4)nrh

10. A solid sphere of radius x cmis melted and cast into a shape of a solid cone of same radius. The
height of the cone is

1)3x cm 2)x cm 3)13 cm 4)5 cm
11. The height of a right circular cone whose radius is 5cm and slant height is 13 cm will be

1)12cm 2)10cm 3)13cm 4)5cm
12. The range of first 10 prime numbers is

1)9 2)17 3)27 4)29

13.If the mean and standard deviation of a data are 8 and 2 respectively then the coefficient of
Variation is

1)20% 2)25% 3)50% 4)75%
14. What will be the probability that a non-leap year will have 53 Saturdays?
1 2 3
1); 2); 3)0 4);
PART -2 (Marks-20)
II. ANSWER ANY 10 QUESTION .Question No:42 Compulsory Answered 10x2 =20

15.Let A={1,2,3} and B={x|xis a single digit prime number}. Find AXBand BXA

16. Let A={-1,1} and B={0,2}. If the function f:A—B defined by f(x)=ax + b is an onto function? Find a and b.
17.1f 13824=22X3b then find a and b.

18. Which term of an AP 16,11,6, 1....is -54?

ax2-81x

x34+8x2-9x

20.If the difference between the roots of the equation x2-13x+k=0 is_17. Find k.

21.In the rectangle WXYZ, XY + YZ=17cm , and XZ+YW=26cm.
Calculate the length and breadth of the rectangle?

22.State Cevas Theorem

23 Find the value of ‘a’ for which the given points are collinear (a, 2-2a), (-a+1, 2a) and (-4a-a, 6-2a)

24.Show that the points (-2,5), (6,-1) and (2, 2) are collinear.

1+sin6 cosB
25. Prove that ——— = 2SecHO
cosB 1+sin6

26. A garden roller whose length is 3m long and whose diameter is 2.8 mis rolled to level a garden.

19. Simplify :

w

How much area will it cover in 8 revolutions?
27 .1If A is an event of a random experiment such that P(A):P(notA)=17:15 and n(s)=640 then find
1)P(not A) 2)n(A)



28.Find LCM of x2-1, x2-2x+1.
PART-III(Marks-50)
III. ANSWER TEN QUESTIONS ONLY . QUESTION NO 42 COMPULSORY . 10 x5 =50
29.A function f is defined by f(x)=2x-3

(i) Find [0 (ii) Find x such that f(x) = 0. (iii) Find x such that f(x) = x.
(iv) Find x such that  f(x) =f (1— x).
6x + 1if-5 < x < 2
30. A function f: [—5,9] — R is defined as follows: f(x) =4542-1 if 2 < x < 6
3x —4 if 6 <x<9
Find. ) fF-3)+f@ @D - fQO)  (Gi2r@+F@) ) LD
31.In an A.P sum of four consecutive terms in 28 and their sum of their squares is 276.Find the four numbers

32.The sum of first n, 2n and 3n terms of an AP are S1, Szand Sz respectively . Prove that S3=3(S2-S1)

33. Solve the following system of linear equations in three variables 3x-2y+z=2, 2x+3y-z=5 and x+y+z=6.
34. Simplify: —— +———— — ——
X2—5Xx+6  X2—3x+2 Xx2—-8x+15
35. The perpendicular PS on the base QR of a Triangle PQR intersects QR at S .Such that QS=3SR.
Prove that 2PQ2=2PRz+QR2
36. Find the value of k if the area of the Quadrilateral is 28 sq.units, whose vertices are (-4,-2), (-3,k),
(3,-2) and (2,3).
37.Find the area of the triangle formed by the lines 3x+y-2=0, 5x+2y-3=0 and 2x-y-3=0.

2_
38.1f 11(;51292% then prove that a2+1

39. From a point onthe ground, the angles of elevation of the bottom and top of a tower fixed
at the top of a 30m high building are 45° and 60° respectively. Find the height of the
tower (/3=1.732)

40. If the radii of the circular ends of a frustum which is 45cm high are 28cm and 7cm. Find the

volume of the frustum.

41. Find the coefficient of variation of data are 24,26,33, 37,29, 31.

a21f A= (¢ Z) and 1=((1) 2) Show that A%(a + d) A = (bc-ad)l;

= sin@

PART-IV(MARKS-16)
IV.ANSWER ALL THE QUESTIONS 2x8=16
43.(a) Take a point which is 11cm away from the centre of a circle of radius 4cm and draw the two
Tangents to the circle from that point.
(or)
(b). Construct a triangle ABC such that AB=5.5cm, 2C = 25°and the attitude from C to AB is 4cm.
44.(a) Discuss the nature of solutions of the quadratic equation x2-8x+16=0.
(or)

(b). Draw the graph of y=x2+x and hence solve x2+1=0.
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| EXAM NUMBER | | | | | |

SSLC MODEL QUESTION PAPER -5

Class :10 Total Marks : 100
Subject : MATHEMATICS Time : 3 hours
PART - |
NOTE : Answer all the 14 questions. 14 x1 =14
1. A={a,b,p},B={2,3},C={p,q,r,s} ,then n[(AUC)XB1]is ...ceu.......
(a). 8 (b). 20 (c). 12 (d). 16

2. If Aisthe set of even numbers less than 8 and B is the set of prime numbers less than 7, then the number of
relations from A to B

(a). 2° (b). 9° (c). 3° (d). 2’
3. The sum of the exponents of the prime factors in the prime factorization of 1729 is
(@. 1 (b). 2 (c). 3 (d). 4
4. 7" term of a G.P 2,6, 18, ... is
(a). 5832 (b). 2919 (c). 1458 (d). 729
5.1f (x — 6) isthe HCFof x? — 2x — 24 and x? — kx — 6, then the value of k is
(@). 3 (b). 5 (c). 6 (d). 8
6. Graph of alinear polynomial is a
(a). Straight line (b). Circle (c). Parabola (d). Hyperbola
7.0f order of A,B,Care 3X4, 5X4 and 5X8 then the order of(ABTC) is
(a). 8X3 (b).3X8 (c).3X4 (d).4X5
8.Ina AABC, AD isthe bisector of ZBAC .If AB=8cm, BD=6cm and DC =3 cm . Then length of the side AC is
(a). 6 cm (b). 4 cm (c). 3 cm (d). 8 cm
9.1f (5,7),(3,p)and(6,6) arecollinear, then the value of p is
(a). 3 (b). 6 (c). 9 (d). 12
10. The equation of straight line passes through ( —4,3) and having slope % is
(@.x—2y+10=0 (b). x —2y—-10=0 (). x+2y+10=0 (d). x+2y—10=0
11. tan @ cosec? @ — tan 8 is equal to
(a). sec@ (b). cot?0 (c).sin@ (d). cot@
12. The height of a right circular cone whose radius is 5 cm and slant height is 13 cm will be
(a). 12 cm (b). 10cm (c). 13 cm (d). 5cm
13. The sum of all deviations of the data from its meaniis .....
(a). Always positive (b). Always negative (c). Zero (d). non-zero integer
14. In asingle throw of die, the probability of getting a multiple of 3 is
1 1 1 2
(a).5 (b). 5 (). ¢ (d). 5
PART -1l
Note : Answer 10 questions . Question Number 28 is compulsory 10 x2 =20

15.Llet A={1,2,3} and B={x| x is a prime number less than 10 } . Find AXB and BXA.

16. Show that the function f : N - N defined by f(m) = m? + m + 3 is one —one function.

17. Find the HCF of 252525 and 363636.

18.Find the number of terms in the A.P.3,6,9,12,..........111.

19. Find the LCM of polynomials a? + 4a — 12 and a®? —5a + 6 whose GCD is (a — 2).

20.If the difference between the roots of the x? —13x+k =0 is 17. Find k.

21. Define — Diagonal Matrix

22 A man goes 18 m due east and then 24 m due north. Find the distance of his current position from the starting point?
23. Show that the points (—2,5),(6,—1), and (2,2) are collinear.



1+cos @

= cosec 8 + cot @
1—cosé@

24.Prove that

25.From the top of a rock 50v3 m high , the angle of depression of a car on the ground is observed to be 30°
Find the distance of the car from the rock.

26. If the ratio of radii of two spheres is 4:7,find the ratio of their volumes.

27. A dieis rolled and a coin is tossed simultaneously. Find the probability that the die shows an odd number
and the coin shows a head.

28.How many terms of the series 1+4+16+............. Make the sum 1365 ?
PART -ll
NOTE : Answer 10 questions. Question Number 42 is compulsory 10 x5 =50
29. The function ‘t’ which maps temperature in Celsius ( c ) into temperature in Fahrenheit (F) is defined by t (c) =F.
Where F = gC + 32. Find (i). t(0) (ii). t (28) (iii).t (-10)  (iv). the value of Cwhen t(C) =212

(v). the temperature when the Celsius value is equal to the Fahrenheit value.

30.1f f(x)=2x+3, g(x)=1-2x and h(x)=3x .Prove that fo(goeh)=(fog)coh.

31.In a G.P the 9" term is 32805 and 6" term is 1215. Find the 12" term.

32.Find the sum of 152+ 1624172+ - ...........+28% .

33. A passenger train takes 1hr more than an express train to travel a distance of 240 km from Chennai to
virudhachalam. The speed of passenger train is less than that of an express train by 20 km per hour. Find
the average speed of the both trains.

1 7
34, |fA=(5 20, B=(1 2| verify that (4B)" = B"A".
12 8 s

35.Show that in a triangle, the medians are concurrent.

36. Find the area of the quadrilateral formed by the points (8,6), (5,11), (=5,12 ) and (—4,3)

37. Two ships are sailing in the sea on either sides of a lighthouse. The angle of elevation of the top the lighthouse
as observed from the ships are 30° and 45° respectively. If the lighthouse is 200 m high, find the distance
between the two ships. (/3 = 1.732).

38.If the radii of the circular ends of a frustum which is 45 cm high are 28 cm and 7 cm. Find the volume of the frustum.

39. A solid sphere of radius 6 cm is melted into a hollow cylinder of a uniform thickness. If the external radius
of the base of the cylinder is 5cm and its height is 32 cm, then find the thickness of the cylinder.

40. Find the co efficient of variation of 24,26,33,37 ,29 ,31

41. A coin is tossed thrice. Find the probability of getting exactly two heads or atleast one tail or consecutive
two heads.

42.Find the square root of 289x* — 612x3 + 970x% — 684x + 361

PART - IV
NOTE : Answer both questions. 2x8=16

43.(a) Construct a triangle similar to a given triangle PQR with its sides equal to % of the corresponding sides

of the triangle PQR. ( Scale factor £> 1) (OR)
(b).Draw the two tangents from a point which is 10 cm away from the centre of a circle of radius 5 cm.
Also , measure the lengths of the tangents.
44. (a).Draw the graph of y =x?—4x+3 and use it to solve x2—6x+9=0 (OR)
(b) Draw the graph of y =2x?2 —3x —5 and hence solve 2x%2—4x—6=0
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